
+ SLIDE MOVING TABLE
TO OPEN MOULDS

BMS
53 route des Contamines - 74370 Argonay

Tél : + 33 (0)4 50 27 29 00 - Fax : + 33 (0)4 50 27 38 22
info@bmsfrance.eu - www.bmsfrance.eu



Based at the heart of Europe, between Geneva and Lyon, we have a very 
wide surface of production with latest generation CNC machines. We 
design and make a wide range of products and equipment intended for 
the plastics industry.

Special and Urgent Manufacture
Dedicated to urgent production, our “extra-production” centre provides 
processors all the flexibility of a true repair service.

Storage and Dispatch
An effective logistics platform specially intended for BMS units in 
Southern Europe, we maintain an exceptionally large stock of supplies. 
Deliveries in France are made the next morning if an order is placed 
before 4.00 p.m.

Technical Advice and Product Sales
A team of specialists with a wide network of representatives in France, 
always ready to give you the service and flexibility you need.



3Slide moving table to open moulds

IN SAFETY

Staff safety
Equipment protection 

Reduction of work load

IN PRODUCTIVITY

Time-saving
Ease of implementation

Space-saving

RANGE

1500 kg, 2000 kg, 3000kg,
6000kg

several options

SLIDE MOVING TABLE TO OPEN MOULDS

This table allows injection moulding tools to be simply and easily handled for their maintenance. 

This table allows a mould to be opened in order to reach its various parts and closed again in 
a few seconds. This equipment has a lot of options to be adapted for all types of moulds, for 
optimal efficiency and safety. 

This platform makes easy any operations of opening, closing and access to the various parts of 
a mold for maintenance, repair, cleaning, prepation for injection, or assembly for manufacturing 
and fitting. 

OPEN - REVOLVE - CLOSE
WITHIN ONE MINUTE



4 Slide moving table to open moulds

			               1500 kg
Maxi load :                                     2000kg
  			                3000kg

Length : 		            1210mm 
Width :		    	              590mm

Plates dimensions : 500mm x 350mm

Working height without 
extension table : 		               275mm

Opening stroke :                          428mm

1 , 5  T O  3 T  -  S P E C I F I C A T I O N S
2 5 - 1 5 ,  2 5 - 2 0  &  2 5 - 3 0  M O D E L

•	 Ease of use, 1 fixed platen, 1 movable platen
•	 Rotation of 360 ° of the mobile part with 

indexing every all 90 °
•	 Immobilization of the mobile table in back 

position

OPTIONS

ADVANTAGES

•	 Extension table for man’s working height 
(850mm)

•	 With or without sheet steel aluminum
•	 Immobilization of the mobile table at the end 

of opening stroke
•	 T Grooves on the upper platform for a 

mechanical clamping
•	 Support brackets, magnetical or mechanical 

clamping
•	 Positioning stops
•	 Block 2 drawers



5

 9 

 8 

1

2

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSTUVWX

350

83
6

1210

590
500

DESCRIPTION:

A3

FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

HM

PRODOPTIM

OPTIM 25-15/20/30

428

 9 

 8 

1

2

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSTUVWX

350

83
6

1210

590
500

DESCRIPTION:

A3

FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

HM

PRODOPTIM

OPTIM 25-15/20/30

428

Slide moving table to open moulds

1 , 5  T O  3 T  -  S T A N D A R D
2 5 - 1 5 ,  2 5 - 2 0  &  2 5 - 3 0  M O D E L

References Description
OPTIM2515 Standard moulding table 1,5T
OPTIM2520 Standard moulding table 2T
OPTIM2530 Standard moulding table 3T
OPTIMT Upgrading table
OPTIMTT Aluminium sheet for extension table
OPTIMTIROIR Block 2 drawers *

* cf. exemples and details p.13



6

V I (.'.) I � � 0 U "' -< �

"

C') 

N 

� H 

y y y 

� 

G 

i 

u �

� 

//,, 

,./'/ 
/0 

u, t 

,. < 

This docum,:,r,t i� th,:, p,o�rty ol SMS Il m1.1�1 not b,:, store:-d. 
reprodvc-:-d ord1sclo1ed to othor:: w1lhovl wrltt,:,n ovth01'1sot1on from th<:> Company 

AUTEUR: PROJET PRODOPTIM 
HM ENSEMBLE 

BMS DESCRIPTION· 

OPTIM 25-30  XL

FORMAT �� No. DË PLAN 

A3 
MASSE· Kp ECHELLE 1: 1 O FOLIO: I / \ 

4 

3 

2 

.LJ 

83
6

1500

520520

500 

690 

V I (.'.) I � � 0 U "' -< �

"

C') 

N 

� H 

y y y 

� 

G 

i 

u �

� 

//,, 

,./'/ 
/0 

u, t 

,. < 

This docum,:,r,t i� th,:, p,o�rty ol SMS Il m1.1�1 not b,:, store:-d. 
reprodvc-:-d ord1sclo1ed to othor:: w1lhovl wrltt,:,n ovth01'1sot1on from th<:> Company 

AUTEUR: PROJET PRODOPTIM 
HM ENSEMBLE 

BMS DESCRIPTION· 

OPTIM 25-30  XL

FORMAT �� No. DË PLAN 

A3 
MASSE· Kp ECHELLE 1: 1 O FOLIO: I / \ 

4 

3 

2 

.LJ 

83
6

1500

520520

500 

690 

Slide moving table to open moulds

References Description
OPTIM2515XL Moulding table 1,5T XL
OPTIM2520XL Moulding table 2T XL
OPTIM2530XL Moulding table 3T XL
OPTIMTXL Upgrading table XL
OPTIMTTXL Aluminium sheet for extension table XL
OPTIMTIROIRXL Block 2 drawers XL *

BWR120/90S Magnetical bracket 135/125x38 *

* cf. exemples and details p.13

1 , 5  T O  3 T  -  M A G N E T I C A L  B R A C K E T S
2 5 - 1 5 ,  2 5 - 2 0  &  2 5 - 3 0  M O D E L



7

V I (.'.) I � � 0 U "' -< �

"

C') 

N 

� H 

y y y 

� 

G 

i 

u �

� 

//,, 

,./'/ 
/0 

u, t 

,. < 

This docum,:,r,t i� th,:, p,o�rty ol SMS Il m1.1�1 not b,:, store:-d. 
reprodvc-:-d ord1sclo1ed to othor:: w1lhovl wrltt,:,n ovth01'1sot1on from th<:> Company 

AUTEUR: PROJET PRODOPTIM 
HM ENSEMBLE 

BMS DESCRIPTION· 

OPTIM 25-30  XL

FORMAT �� No. DË PLAN 

A3 
MASSE· Kp ECHELLE 1: 1 O FOLIO: I / \ 

4 

3 

2 

.LJ 

83
6

1500

520520

500 

690 

V I (.'.) I � � 0 U "' -< �

"

C') 

N 

� H 

y y y 

� 

G 

i 

u �

� 

//,, 

,./'/ 
/0 

u, t 

,. < 

This docum,:,r,t i� th,:, p,o�rty ol SMS Il m1.1�1 not b,:, store:-d. 
reprodvc-:-d ord1sclo1ed to othor:: w1lhovl wrltt,:,n ovth01'1sot1on from th<:> Company 

AUTEUR: PROJET PRODOPTIM 
HM ENSEMBLE 

BMS DESCRIPTION· 

OPTIM 25-30  XL

FORMAT �� No. DË PLAN 

A3 
MASSE· Kp ECHELLE 1: 1 O FOLIO: I / \ 

4 

3 

2 

.LJ 

83
6

1500

520520

500 

690 

Slide moving table to open moulds

References Description
OPTIM2515EQ Moulding table 1,5T EQ
OPTIM2520EQ Moulding table 2T EQ
OPTIM2530EQ Moulding table 3T EQ
OPTIMTXL Upgrading table XL
OPTIMTTXL Aluminium sheet for extension table XL
OPTIMTIROIRXL Block 2 drawers XL *

OPTIMBUT Adjustable positioning stop *

OPTIMEQ Standard mechanical bracket *

1 , 5  T O  3 T  -  M E C H A N I C A L  B R A C K E T S
2 5 - 1 5 ,  2 5 - 2 0  &  2 5 - 3 0  M O D E L

* cf. exemples and details p.13



8 Slide moving table to open moulds

Maxi load : 		               6000kg

Lenght : 		             1660mm 
Width : 			               660mm

Plates dimensions :  600mm x 470mm

Working height without
extension table : 		               276mm

Opening stroke : 	             657mm

6 T  -  S P E C I F I C A T I O N S 
2 5 - 6 0  M O D E L

•	 Ease of use, 1 fixed platen, 1 movable platen
•	 Rotation of 360 ° of the mobile part with 

indexing every all 90 °
•	 Immobilization of the mobile table in back 

position

OPTIONS

ADVANTAGES

•	 Extension table for man’s working height 
(850mm)

•	 With or without sheet steel aluminum
•	 Immobilization of the mobile table at the end 

of opening stroke
•	 T Grooves on the upper platform for a 

mechanical clamping
•	 Support brackets, magnetical or mechanical 

clamping
•	 Positioning stops
•	 Block 2 drawers



9

 9 

 8 

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSTUVWX

1

2

3

ABCDEF

DESCRIPTION:

A3

FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

HM

PRODOPTIM

OPTIM 25-60

470

84
8

1660

600
690

657

 9 

 8 

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSTUVWX

1

2

3

ABCDEF

DESCRIPTION:

A3

FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

HM

PRODOPTIM

OPTIM 25-60

470

84
8

1660

600
690

657

Slide moving table to open moulds

6 T  -  S T A N D A R D
2 5 - 6 0  M O D E L

References Description
OPTIM2560 Standard moulding table 6T
OPTIMT6T Upgrading table 6T
OPTIMTT6T Aluminium sheet for extension table 6T
OPTIMTIROIR6T Block 2 drawers *

* cf. exemples and details p.13



10

DESCRIPTION:

A3
FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

2020 

640 640

84
8 

810 

600 

HM
PRODOPTIM

OPTIM 25-60 XL

H G B A

1
2

3
4

H G F E D C B A

4

3

2

1DESCRIPTION:

A3
FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

2020 

640 640

84
8 

810 

600 

HM
PRODOPTIM

OPTIM 25-60 XL

H G B A

1
2

3
4

H G F E D C B A

4

3

2

1

Slide moving table to open moulds

References Description
OPTIM2560XL Moulding table 6T XL
OPTIMT6TXL Upgrading table 6T XL
OPTIMTT6TXL Aluminium sheet for extension table 6T XL
OPTIMTIROIR6TXL Block 2 drawers 6T XL *

BWR260/90S Magnetical bracket 285/195X45 *

6 T  -  M A G N E T I C A L  B R A C K E T S 
2 5 - 6 0  M O D E L

* cf. exemples and details p.13



11

DESCRIPTION:

A3
FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

2020 

640 640

84
8 

810 

600 

HM
PRODOPTIM

OPTIM 25-60 XL

H G B A

1
2

3
4

H G F E D C B A

4

3

2

1DESCRIPTION:

A3
FORMAT:

MASSE : Kg

This document is the property of BMS . It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:10 FOLIO: 1 / 1

ENSEMBLE: 

PROJET: AUTEUR : 

2020 

640 640

84
8 

810 

600 

HM
PRODOPTIM

OPTIM 25-60 XL

H G B A

1
2

3
4

H G F E D C B A

4

3

2

1

Slide moving table to open moulds

6 T  -  M E C H A N I C A L  B R A C K E T S
2 5 - 6 0  M O D E L

Références Désignation
OPTIM2560EQ Moulding table 6T EQ
OPTIMT6TXL Upgrading table 6T XL
OPTIMTT6TXL Aluminium sheet for extension table 6T XL
OPTIMTIROIR6TXL Block 2 drawers 6T XL *

OPTIMBUT6T Adjustable positioning stop 6T *

OPTIMEQ6T Standard mechanical bracket 6T *

* cf. exemples and details p.13



12 Slide moving table to open moulds

E X E M P L E S

SLIDE MOVING TABLE 1.5T, 2T AND 3T WITH DRAWER BLOCKS

SLIDE MOVING TABLE 6T WITH DRAWER BLOCKS

TANDEM SLIDE MOVING TABLE WITH MECHANICAL BRACKETS 



13Slide moving table to open moulds

D E T A I L S

MAGNETICAL BRACKETS MECHANICAL BRACKETS

ROTARY PLATES DRAWER BLOCKS

POSITIONING STOP ROTATION PLATE STOP



DESCRIPTION:

A0
FORMAT:

MASSE : 45.70 Kg

This document is the property of PHAREA SAS. It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:2 FOLIO: 1 / 1

OPTIMPE13000

ENSEMBLE: TABLE PROD-OPTIM TANDEM 3T

PROJET: BMS TABLE PROD-OPTIM

EQUERRE PROD-OPTIM 
PE10000

VERIFICATEUR: R.SIMON

AUTEUR: P.GRENECHE

APPROBATEUR: -

Serrage visserie / torque:

Document(s) associé(s) / associated document(s):

Sauf indications, toute la visserie sera freinée au frein filet moyen
Otherwise indications, all screws will be bonded with medium bond 

N° de nomenclature / list of items:

NF E25-030-1

ON DRAWING

17568
23,63

8-8 993609T
1,6 2

Classe 0,183 0,368C
96486816421424141627

2,5 3 4 5 6

2,941,270,745 9,885,71
169440753604046427840

8 10 12 2016 24

79,0946,38 652377193
537600392160269280

4230 36

360722531296
117600

TOUTES LES VIS SERONT COLLEES A LA LOCTITE 243 OU EQUIVALENT

Traitement thermique
Heat treatment

Tolérances générales
General tolerances

Traitement de surface
Surface treatment

Masse unitaire
Unit weight

Matière
Material

Usinage (sauf indications)
Machining (except indications)

ROUGH 

ISO2768-mk/ ISO13920-B-F

REP QTE NUMERO DE PIECE REF BMS DESIGNATION

8 2 OPTIMVD13602 PROBTRM6X8 VIS CHC M6x8 CL 8.8 ISO 4762
7 10 OPTIMVD13601 PROBTRM8X30 VIS CHC M8x30 CL 8.8 ISO 4762
6 2 OPTIMVD13600 PRORONDELLEM10 RONDELLE M10 ZN NFE 25513
5 2 OPTIMCD13301 PROTASSEAU12 TASSEAU POUR RAINURE EN T 12 DIN 508 REF: 80 036
4 2 OPTIMCD13300 PROBOUTONETOILEM10 BOUTON ETOILE M10x40 REF:F17850.TM10X40001
3 2 OPTIMPD13003 PROGOUSEQ-PD13003 GOUSSET EQUERRE PROD-OPTIM PE10000
2 1 OPTIMPD13002 PROAPPUIEQ-PD13002 APPUI EQUERRE PROD-OPTIM PE10000
1 1 OPTIMPD13001 PROSEMEQ-PD13001 SEMELLE EQUERRE PROD-OPTIM PE10000

REV. DATE AUTHOR CHECKED BY STATUS OBSERVATIONS APPROVED BY

C 06/03/2017 P.GRENECHE R.SIMON - REFONTE TOTALE DE LA COTATION -

B 23/01/2017 P.GRENECHE R.SIMON -
AJOUT 2 TARAUDAGES M6 DANS SEMELLE + AJOUT 2 
VIS M6x8 + MODIFICATIONS DES DESIGNATIONS DE 

PIECES
-

A 16/01/2017 P.GRENECHE R.SIMON - EMISSION INITIALE -

PLANS DETAILLES DES PIECES FABRIQUES
TOUTES LES PIECES SUIVENT LES TOLERANCES GENERALES DE LA FEUILLE 

9 

8 

TUVW

1

2

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSX

 600 

 3
40

 

 150 

 3
04

 

 3
22

 

OPTIMPD13001

MATERIAU : XC48

MASSE: 16.44 KG

0.2 A

200

=

2 x 11 

= =

600 

=

14
8

550 4 xR5 

10
0

=

44

=

11
8

G

G

C

C

COUPE E-E

0.2 B

12

4 x 15 

4 x 9 

1

2

3

POSSIBILITE DE METTRE DES ANNEAUX DE LEVAGE EN M8

MASSE: 4.63 KG

10 
148 

Ra
3.

2

0.05
0.05

Ra
3.

2

0.1 B

B

A30 

=
10

0
=

OPTIMPD13003

MATERIAU : XC48

C25 

28
0

B

B

DÉTAIL A
SUIVANT NORME : ISO 582
TAILLE RAINURE : 12

ECHELLE 2 : 1

2 x 

0.2 B

2 x R0.5 

2 x R0.5 
0.3 X 45°
2 x Ch.

19

9 2 x R0.5 

12

11 

C-D 

C-D 

Ra
3.

2

COUPE B-B

0.2

E0.2

Ra 3.2

D

E

3 x M8 

20M
IN26

M
IN21

20 

20 MIN 
2 x M8 

M8 

16 

17

50

28 

11
9

17
4

50 50

22

24

Ra
3.

2

COUPE C-C

Ra
3.

2

0.2 A

0.05
0.050.1 A

A

24 15 
12 

6 x 

6 x 9 

COUPE F-F

7

COUPE G-G

0.2 A
2 x M6 

12 

16 MIN 

NOTA : CERTIFICAT MATIERE AVEC CONTROLE PAR ULTRASON DEMANDE

OPTIMPD13002

MATERIAU : XC48

MASSE: 19.23 KG

CASSER TOUS LES ANGLES VIFS

600 

4 x R10 = 200 =

=
50

=

15
8

EE

DESCRIPTION:

A0
FORMAT:

MASSE : 39.71 Kg

This document is the property of PHAREA SAS. It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:2 FOLIO: 1 / 1

OPTIMPE13001

ENSEMBLE: TABLE PROD-OPTIM 25-30

PROJET: BMS TABLE PROD-OPTIM

EQUERRE PROD-OPTIM 
PE10006

VERIFICATEUR: R.SIMON

AUTEUR: P.GRENECHE

APPROBATEUR: -

Serrage visserie / torque:

Document(s) associé(s) / associated document(s):

Sauf indications, toute la visserie sera freinée au frein filet moyen
Otherwise indications, all screws will be bonded with medium bond 

N° de nomenclature / list of items:

NF E25-030-1

ON DRAWING

17568
23,63

8-8 993609T
1,6 2

Classe 0,183 0,368C
96486816421424141627

2,5 3 4 5 6

2,941,270,745 9,885,71
169440753604046427840

8 10 12 2016 24

79,0946,38 652377193
537600392160269280

4230 36

360722531296
117600

TOUTES LES VIS SERONT COLLEES A LA LOCTITE 243 OU EQUIVALENT

Traitement thermique
Heat treatment

Tolérances générales
General tolerances

Traitement de surface
Surface treatment

Masse unitaire
Unit weight

Matière
Material

Usinage (sauf indications)
Machining (except indications)

ROUGH 

ISO2768-mk/ ISO13920-B-F

REP QTE NUMERO DE PIECE REF BMS DESIGNATION

8 2 OPTIMVD13602 PROBTRM6X8 VIS CHC M6x8 CL 8.8 ISO 4762
7 10 OPTIMVD13601 PROBTRM8X30 VIS CHC M8x30 CL 8.8 ISO 4762
6 2 OPTIMVD13600 PRORONDELLEM10 RONDELLE M10 ZN NFE 25513
5 2 OPTIMCD13301 PROTASSEAU12 TASSEAU POUR RAINURE EN T 12 DIN 508 REF: 80 036
4 2 OPTIMCD13300 PROBOUTONETOILEM10 BOUTON ETOILE M10x40 REF:F17850.TM10X40001
3 2 OPTIMPD13003 PROGOUSEQ-PD13003 GOUSSET EQUERRE PROD-OPTIM PE10000
2 1 OPTIMPD13005 PROAPPUIEQ-PD13005 APPUI EQUERRE PROD-OPTIM PE10006
1 1 OPTIMPD13004 PROSEMEQ-PD13004 SEMELLE EQUERRE PROD-OPTIM PE10006

REV. DATE AUTHOR CHECKED BY STATUS OBSERVATIONS APPROVED BY

A 03/03/2017 P.GRENECHE R.SIMON - EMISSION INITIALE -

PLANS DETAILLES DES PIECES FABRIQUES
TOUTES LES PIECES SUIVENT LES TOLERANCES GENERALES DE LA FEUILLE 

9 

8 

UVW

1

2

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSTX

3

1

2

POSSIBILITE DE METTRE DES ANNEAUX DE LEVAGE EN M8

 3
04

  3
40

 

 150 HORS TOUT 

 3
22

 H
O

RS
 T

O
UT

 

OPTIMPD13004

MATERIAU : XC48

MASSE: 13.67 KG

0.2 A
2 x 

=

=200=

=

500 

=

10
0

4 xR5 450

14
8

44

11 

=

11
8

C

C

G

G

 500 HORS TOUT 

OPTIMPD13005

MATERIAU : XC48

MASSE: 16.00 KG

NOTA : CERTIFICAT MATIERE AVEC CONTROLE PAR ULTRASON DEMANDE

CASSER TOUS LES ANGLES VIFS

500 

4 x R10 == 200

=
50

=

15
8

EE

0.05

Ra
3.

2 Ra
3.

2

0.05 0.1 B

B

A30 

=
10

0
=

Ra
3.

2

0.05

0.2

Ra
3.

2

A

0.05

COUPE C-C

0.1 A

A

12 
6 x 24 15 

6 x 9 

COUPE F-F

7

OPTIMPD13003

MATERIAU : XC48

C25 

28
0

B

B
C-D 

COUPE B-B

Ra
3.

2

C-D 

0.2

E0.2

Ra 3.2

D

E

2026 M
IN

21 M
IN

20 MIN 

20 
M8 

2 x M8 

50

17

16 

28 

11
9

17
4

50 50

22

3 x M8 
24

COUPE E-E

0.2 B

15 4 x 

12

4 x 9 
SUIVANT NORME : ISO 582

2 x 

ECHELLE 2 : 1
TAILLE RAINURE : 12DÉTAIL A

0.2 B

2 x R0.5 
0.3 X 45°
2 x Ch.

19

9 2 x R0.5 2 x R0.5 

12

11 

MASSE: 4.63 KG

10 
148 

COUPE G-G

0.2 A
2 x M6 

12 

16 MIN 

DESCRIPTION:

A0
FORMAT:

MASSE : 45.70 Kg

This document is the property of PHAREA SAS. It must not be stored,
reproduced or disclosed to others without written authorisation from the Company. 

No. DE PLAN

ECHELLE: 1:2 FOLIO: 1 / 1

OPTIMPE13000

ENSEMBLE: TABLE PROD-OPTIM TANDEM 3T

PROJET: BMS TABLE PROD-OPTIM

EQUERRE PROD-OPTIM 
PE10000

VERIFICATEUR: R.SIMON

AUTEUR: P.GRENECHE

APPROBATEUR: -

Serrage visserie / torque:

Document(s) associé(s) / associated document(s):

Sauf indications, toute la visserie sera freinée au frein filet moyen
Otherwise indications, all screws will be bonded with medium bond 

N° de nomenclature / list of items:

NF E25-030-1

ON DRAWING

17568
23,63

8-8 993609T
1,6 2

Classe 0,183 0,368C
96486816421424141627

2,5 3 4 5 6

2,941,270,745 9,885,71
169440753604046427840

8 10 12 2016 24

79,0946,38 652377193
537600392160269280

4230 36

360722531296
117600

TOUTES LES VIS SERONT COLLEES A LA LOCTITE 243 OU EQUIVALENT

Traitement thermique
Heat treatment

Tolérances générales
General tolerances

Traitement de surface
Surface treatment

Masse unitaire
Unit weight

Matière
Material

Usinage (sauf indications)
Machining (except indications)

ROUGH 

ISO2768-mk/ ISO13920-B-F

REP QTE NUMERO DE PIECE REF BMS DESIGNATION

8 2 OPTIMVD13602 PROBTRM6X8 VIS CHC M6x8 CL 8.8 ISO 4762
7 10 OPTIMVD13601 PROBTRM8X30 VIS CHC M8x30 CL 8.8 ISO 4762
6 2 OPTIMVD13600 PRORONDELLEM10 RONDELLE M10 ZN NFE 25513
5 2 OPTIMCD13301 PROTASSEAU12 TASSEAU POUR RAINURE EN T 12 DIN 508 REF: 80 036
4 2 OPTIMCD13300 PROBOUTONETOILEM10 BOUTON ETOILE M10x40 REF:F17850.TM10X40001
3 2 OPTIMPD13003 PROGOUSEQ-PD13003 GOUSSET EQUERRE PROD-OPTIM PE10000
2 1 OPTIMPD13002 PROAPPUIEQ-PD13002 APPUI EQUERRE PROD-OPTIM PE10000
1 1 OPTIMPD13001 PROSEMEQ-PD13001 SEMELLE EQUERRE PROD-OPTIM PE10000

REV. DATE AUTHOR CHECKED BY STATUS OBSERVATIONS APPROVED BY

C 06/03/2017 P.GRENECHE R.SIMON - REFONTE TOTALE DE LA COTATION -

B 23/01/2017 P.GRENECHE R.SIMON -
AJOUT 2 TARAUDAGES M6 DANS SEMELLE + AJOUT 2 
VIS M6x8 + MODIFICATIONS DES DESIGNATIONS DE 

PIECES
-

A 16/01/2017 P.GRENECHE R.SIMON - EMISSION INITIALE -

PLANS DETAILLES DES PIECES FABRIQUES
TOUTES LES PIECES SUIVENT LES TOLERANCES GENERALES DE LA FEUILLE 

9 

8 

TUVW

1

2

3

4

5

6

7

10

11

12

13

14

15

16

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

ABCDEFGHIJOPQRSTUVWX

ABCDEFGHIJKLMNOPQRSX

 600 

 3
40

 

 150 

 3
04

 

 3
22

 

OPTIMPD13001

MATERIAU : XC48

MASSE: 16.44 KG

0.2 A

200

=

2 x 11 

= =

600 

=

14
8

550 4 xR5 

10
0

=

44

=

11
8

G

G

C

C

COUPE E-E

0.2 B

12

4 x 15 

4 x 9 

1

2

3

POSSIBILITE DE METTRE DES ANNEAUX DE LEVAGE EN M8

MASSE: 4.63 KG

10 
148 

Ra
3.

2

0.05
0.05

Ra
3.

2

0.1 B

B

A30 

=
10

0
=

OPTIMPD13003

MATERIAU : XC48

C25 

28
0

B

B

DÉTAIL A
SUIVANT NORME : ISO 582
TAILLE RAINURE : 12

ECHELLE 2 : 1

2 x 

0.2 B

2 x R0.5 

2 x R0.5 
0.3 X 45°
2 x Ch.

19

9 2 x R0.5 

12

11 

C-D 

C-D 

Ra
3.

2

COUPE B-B

0.2

E0.2

Ra 3.2

D

E

3 x M8 

20M
IN26

M
IN21

20 

20 MIN 
2 x M8 

M8 

16 

17

50

28 

11
9

17
4

50 50

22

24

Ra
3.

2

COUPE C-C

Ra
3.

2

0.2 A

0.05
0.050.1 A

A

24 15 
12 

6 x 

6 x 9 

COUPE F-F

7

COUPE G-G

0.2 A
2 x M6 

12 

16 MIN 

NOTA : CERTIFICAT MATIERE AVEC CONTROLE PAR ULTRASON DEMANDE

OPTIMPD13002

MATERIAU : XC48

MASSE: 19.23 KG

CASSER TOUS LES ANGLES VIFS

600 

4 x R10 = 200 =

=
50

=

15
8

EE

(500)

(600)

OPTIMEQ

OPTIMEQ6T

�

� � � 	
� � 
�6

7

l L l

h

53, route des Contamines
74370 Argonay - France

Tél. : +33 (0)4 50 27 29 00 - Fax. : +33 (0)4 50 27 38 22

info@bmsfrance.eu

www.bmsfrance.eu

Find more references and technical data
on our online catalogue :
www.bmsfrance.eu

Find illustrative videos
on our Youtube channel

Magnetical / mechanical brackets
BWR / OPTIM

References Length Width Height
OPTIMEQ 500 150 340
OPTIMEQ6T 600 150 340

MECHANICAL BRACKETS :

• Mould mechanical holding system
• Parallelism between bracket and mould

MAGNETICAL BRACKETS :

• Mould magnetical holding system
• Allow a free positioning on the plates
• Magnetic force desactivation / activation 
system
• Not appropriate for tools equiped by isolation 
plates

References Length L 
(mm)

Width l
(mm)

Height h 
(mm)

Breakout force 
(kg)

BWR120/90S 110 38 120 20/20
BWR150/90S 150 45 150 30/30
BWR180/90S 180 48 180 35/35
BWR260/90S 180 48 265 35/50
BW130/225S 130 38 130 20/20
BW180/225S 180 45 180 35/35



1210 590

51
0

27
5

5

350 500428 470 657

27
6

51
0

5

1660 660

600

b

a

c

d

Find more references and technical data
on our online catalogue :
www.bmsfrance.eu

Find illustrative videos
on our Youtube channel

53, route des Contamines
74370 Argonay - France

Tél. : +33 (0)4 50 27 29 00 - Fax. : +33 (0)4 50 27 38 22

info@bmsfrance.eu

www.bmsfrance.eu

Slide moving table
to open moulds
Order form

Firm

Tel.

Name

Mail

1.5 T

2 T

3 T 3 T
TANDEM 6 T

Options

Dimensions of the most heavy mould

Height (a)

Width (b)

Width (c)

Depth (d)

Mechanical brackets Magnetical brackets Drawer blocks



DOWNLOAD OUR ONLINE 
GENERAL CATALOGUE
WWW.BMSFRANCE.EU

info@bmsfrance.eu
www.bmsfrance.eu


